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3.19. The streetlights at A and B are suspended from the two  3-21. The block has a weight of 201b and is being hoisted at
poles as shown. If each light has a weight of 50 Ib, determine the  uniform velocity. Determine the angle 6 for equilibrium and the
bension in each of the three supporting cables and the required  required force in each cord.

height / of the pole DE so that cable AB is horizontal. ) ) )
3-22. Determine the maximum weight W of the block that can

be suspended in the position shown if each cord can support a
maximum tension of 80 Ib. Also, what is the angle  for equilib-
rium?

D

Prob. 3-19
%3-20. A nuclear-reactor vessel has a weight of 500(10°) Ib. De-
termine the horizontal compressive force that the spreader bar AB
exerts on point A and the force that each cable segment CAand AD
exert on this point while the vessel is hoisted upward at constant
velocity.

Probs. 3-21/3-22

3-23. The pipe is held in place by the vice. If the bolt exerts a
force of 50 Tb on the pipe in the direction shown, determine the
forces F» and Fy that the smooth contacts at A and B exert on the
pipe.

Prob. 3-20

Prob. 3-23





